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General Instructions:
1) Students are advised to choose one correct answer to every question.

LGSzl L Livp S o S Ar
2) Read each question carefully before answering.
Aoy pSike i Sy
3) Encircle the correct option of MCQ with a Black /Blue ink.
S/ d(x,.,méf Zirdem &
4) More than one encircled answers will be considered incorrect.
-(Llo,l((uﬁ( 159 v Kl Il
5) Encircle the correct answer-as shown in the example:

e WOt S s S L izl

Example: Tortoise belongs to which group of vertebrates?
?g_c_fuf 2 Lu":ﬁu&w Kaﬁ{:dﬁ'

a) Birds <4/ b)Amphibians I3
@ Reptiles# tz. d)Mammals 2’
Part-A (Multiple Choice Questions) Time Allowed: 50 Minutes

ALy 1 g S S ot sl S50 225U w0 U il
Instructions: -Twenty five (25) Multiple Choice Questions (MCQs) are given in
this part. Attempt all questions. Each question carries two marks.

Q. No.1.The group which belongs to invertebrates is:
:4_%&5;&40;1,2_,%,
(a) amphibians  z13¢% (b) wormsess#« (c) reptiles #t  (d) mammals A<
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Q. No.2. Grouping of organisms on the basis of similarities and differences is

called:

:4.(3MUE&L?.JU;JII@/,)Q:JQGIQMIu;"':flﬁ"‘
(a) arrangement =~ (b) classification Sbzos )
(c) identification .t (d) characterization seleos”

Q. No.3.The organism which is a vertebrate:
‘L.L;,ﬁ.’ 170 £los
() jellyfish J°U? (b) earthworm 1 (c)ant &  (d) ostrich &7
Q. No.4. Dengue fever spreads by the bite of:
?4.%;,,73({2’.(&&&&5
(2) mosquito A (b) house fly &

(c) wasp Vi (d) honey bee SO
Q. No.5.The part of bean seed which stores food is:

:‘4.8‘/5 2 5..@}3#70;{@’4’:%)

(a) embryo e (b) radicle Sk
(c) plumule Uk (d) cotyledons uyéK
Q. No.6. Plumule makes shoot and grows:
:‘Lt"zul‘grl&zadf ’&-
(a) upward el (b) downward “d
(c) rightside AU (d) left side <A

Q. No.7.The sub group which belongs to microorganisms is:

:‘aur‘amg}w = ]'jffl’;fl L0t 774

(a) insects P (b) birds iy
(c) bacteria L 25 (d) mammals M
Q. No.8.The main cause of acid rain is:
:c‘;,?sdkd/JJ[,Ql;&'
(a) land pollution ST (b) air pollution Sl
(c) water pollution J;)TJ[}g (d) noise pollution 47 §omT

Q. N0.9.The biodegradable material among the following is:

:‘LD)L&;’JG'LJ.J}@A

(a) plastic L (b) cement Lo
(c) iron L (d) cloth i
Q. No0.10. Respiratory problems are due to:
e ol
(@) dust in air oS Jin (b) fertilizer in crops WUt
(c) pollution in water ~ $>7 ) (d) acid rain JAdiz
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Q. No.11. Ice is an example of:
:i:.dﬁ'ﬁu{l-i/.
(a) gas S (b) liquid & (c) solid Ju# (d)plasma St
Q. No.12. Particles of air are:

el Lin

(a) fixed and regular 0B slos
(b) not fixed and regular 0L slos 5
(c) fixed and irregular 0 G slos P
(d) not fixed and irregular 0l nslos
Q. No.13. The force represented by the arrow is: i ee b6 = d K
- - - - B B ? - .
Start Finish
(a) magnetism bl (b) weight s
(c) electricity XY (d) friction 'y

Q. No.14. The friction will be more if the surfaces of moving objects are:
:unuf}’/ d/ rl;,l./ /”' fld’m:g)fz
(a) polished %! (b) rough 7y
(c) smooth JsA (d) lubricated %3

Q. No.15. The mass of an elephant is ten times more than a turtle on earth. How
many times elephants mass will be more than turtle on moon?

?Jna)L)W’ZLLf{/’AgoJJJ{Q.‘au;gjbfu’:cg;é/gftffgug/?uf)

(a) Ten times g (b) Sixty times A
(c) Hundred times s (d) Six hundred times g

Q. No.16. By applying brakes the speed of a moving car:
:JBJJJ{(EK‘%’LL@-{J,

(a) increases <z
(b) decreases e dnf
(c) remains constant N

(d) first increases and then decreases ‘a&n[ A §rdd
Q. No.17. If the hole in a pinhole camera is large then the image formed will be:

:b’z;.f ;Jl?ﬂlzf,uy(p/{dﬂu;ﬁ
(@) sharp 5u (b) large % (c) small ¢+£(d) blurred vx=s
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Q. No0.18. An example of a luminous object is:

:ﬁ:.dlfu{ld/ /"Zvj LY,
(@) book 0" (b)sun .- (c) hand A (d) moon s

Q. No0.19. The device which saves us from any damage due to excessive current
flow from circuit is:

:ﬁ:_b’%lfoauu‘}o/ ‘j:q4LJf .:fﬁ;pr_ut..*f /:?qu
(a) battery (= (b) fuse s (c) bulb -4 (d) switch éy
Q. No0.20. The main cause of lightning is:

e ps§ S L E SeT
(a) static electric charge ¢k oL
(b) magnetic force S
(c) gravitational force =3 P
(d) electric circuit oSS A

Q. No.21. The one which is NOT an example of electromagnetic device:

:M‘J&JLT‘))"&WJ/J‘ZU@LU{QJI

(@) Electric bell JES A (b) Telephone earpieces SALS
(c) Washing machine g s (d) Light bulb *,W(fu
Q. No.22. Water runs slowly through:
:‘Q.VJ}(J‘ZT%&&
(a) silt e ik (b) sand YAy
(c) clay gt (d) loam e SESE K

Q. No.23. Plants grow well in the soil with:
e Qotos ft Yo Z sl e P sy
(a) maximum moisture dr,JugJ (b) without moisture s A
(c) medium moisture’” YisS dy s (d) least moisture Ui Fex
Q. No.24. The nearest planet to sun in our solar system is:
Zc“.ukd].gjé@}fg]ﬁ‘f‘?@(.}h
(a) Earth 03] (b) Mars &,
(c) Mercury ks (d) Venus 000
Q. No.25. Gravitational force causes the moon to rotate around the:

:c“-u‘c“_vg/g)l(éuei'gc,gufg}lﬂﬁug

(@) Sun Loy (b) Earth 09
(c) Satellite LA (d) Galaxy ey
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